PARTS LIST
NOTE: ITEM[ QTY| PARTNO. PART DESCRIPTION LENGTH | UNITWT. | NETWT.
Z';Q;g?'l‘:'i gfgggg“sv HANDRAILS, AND HANDRAIL SPLICES 1| 3 X-MSTEP | STAIR WELDMENT FOR MODULAR EQUIPMENT PLATFORM 37.92 113.77
2 | 4 X-MS4A SIDE ANGLE FOR FOUR STAIR ASSEMBLY 413/4in 8.92 35.67
MOUNTS ONLY TO MOPEN-4. HANDRAIL REQUIRED. 3 | 1 X-MSWS WELDED STEP FOR 1 LEVEL MODULAR STEP 52.77 52.77
4 | 2 | XMSHUP HANDRAIL WELDMENT 12.25 24.49
5 | 2 X-MSH4 MODULAR HANDRAIL FOR FOUR STAIRS 15.86 31.72
6 | 2 | X-MSTEP4AMR MID RAIL FOR MSTEP4 6123/32in 18.11 36.23
7 | 4 | X-MSHSP HANDRAIL SPACER PIPE 1in 0.10 0.40
e s | 2 X-MTRC MODULAR TOP RAIL CORNER SPLICE 1.25 2.51
9 | 4 A58234 5/8" x 2-3/4" HDG A325 HEX BOLT 23/4in 0.36 1.42
24 G58134 5/8" x 1-3/4" HDG BOLT 13/4in 0.27 6.45
6 G58FW 5/8" HDG USS FLATWASHER 118 in 0.07 0.42
28 G58LW 5/8" HDG LOCKWASHER 0.03 0.73
28 | G58NUT 5/8" HDG HEAVY 2H HEX NUT 013 3.64
TOTALWT.#| 311.08

e I‘HH - H ”l
|
H H ol
, \u |
N\
[ \. | | | ’B,
“ N
DETAIL B
DETAIL C
TOLERANCE NOTES DESCRIPTION N fors:
TOLERANCES ON DIMENSIONS, UNLESS OTHERWISE NOTED ARE: FOUR STAIR ASSEMBLY FOR l (Engineoring  Atlanta,GA '
SAWED, SHEARED AND GAS CUT EDGES (# 0.030") upport Team:  Los Angeles,
DRILLED AND GAS CUT HOLES (£0.030") - NO CONING OF HOLES MODULAR EQUIPMENT PLATFORM . 1-888-753-7446  Plymouth, IN
LASER CUT EDGES AND HOLES (£ 0.070") - NO CONING OF HOLES A valmont Y CoVANY Dallas, TX
BENDS ARE t 1/2 DEGREE
ALL OTHER MACHINING (£ 0.030") CPD NO. DRAWN BY ENG. APPROVAL PART NO. N
ALL OTHER ASSEMBLY (% 0.060") -
A _[ADDED MID RAIL FOR HANDRAIL [ [CEK] 711312016 ¢ 4 =TS g&zm Uggglzm 5 e T MSTEP-4 Q g
REV | DESCRIPTION OF REVISIONS [ cPD | BY [ DATE | Ticoataanoveci INTHIS DRAWING VALWONT e m
REVISION HISTORY W&mﬁm&%’?&s@ﬁﬁﬁwmmm ANY OF 81 02 CUSTOMER BMC 7/15/2016 MSTEP-4 N




351/2"

% I A A
SRRiR e |
i i |
M{Fj e "j\“ ‘
b ———f |
I N |
Cd Ok |
‘ }H’(7 7‘47774‘7J 7:\\ ‘ ‘
\&: c::::::: ﬂ\ : |
77777 I . I
] Se—————— o
[ B Ses—— A |
24" TO 43"
)
7"+ 2" TYP.
§ § ADJUSTABLE
- L ]
TOLERANCE NOTES PRTR— Tocations:

TOLERANCES ON DIMENSIONS, UNLESS OTHERWISE NOTED ARE:
SAWED, SHEARED AND GAS CUT EDGES (# 0.030%)

DRILLED AND GAS CUT HOLES (# 0.030") - NO CONING OF HOLES
LASER CUT EDGES AND HOLES (# 0.070") - NO CONING OF HOLES
BENDS ARE t 1/2 DEGREE

A _[ADDED MID RAIL FOR HANDRAIL

[ [CEK] 7/13/12016

FOUR STAIR ASSEMBLY FOR
MODULAR EQUIPMENT PLATFORM

Engineering
Ro Support Team:
1

-888-753-7446
A valmontvw

New York, NY
Atlanta, GA

Los Angeles, CA
Plymouth, IN
Salem, OR
Dallas, TX

REV | DESCRIPTION OF REVISIONS

[ cpp | BY [ DATE

REVISION HISTORY

ALL OTHER MACHINING #0‘0307 CPD NO. DRAWN BY ENG. APPROVAL PART NO.
ALL OTHER ASSEMBLY (£ 0.060") CEK  9/23/2015 MSTEP-4
L1, 3 INTHIS DRAWING VALMONT CLASS| SuB | DRAWING USAGE CHECKED BY DWG. NO.
NDUSTRIES AND GONSIDERED A TRADE SEGRET. o | 81|02 CUSTOMER BMC  7/15/2016 MSTEP-4

240 ¢

39vd




